
Two very long wires carrying equal current, I, are placed 
parallel to the z-axis.  One wire is located at (-a,0) and the 
other is located at (a,0).  Both wires carry current out of 
the screen.  The direction that best describes the magnetic 
field at point P located at (0, -P) is: 
 
  
 
 
 
 
 
 
 
 
 

Len
Line

Len
Line

Len
Line

Len
Line

Len
Line

Leonard Suess
Sticky Note
Answer is 5.  Use the Biot-Savart law to find the direction of the magnetic field generated by current carrying wires.

dB ~ dl x r(hat)



A positively charged disc is rotated (clockwise when 
viewed from above) with constant angular speed about 
an axis passing through the disc’s center of mass and 
perpendicular to the plane containing the disc.  At point 
P, located directly to the right of the disc’s center of 
mass but outside the disc, the direction of the magnetic 
field is 
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Answer is 4.  First, one needs to find the direction of ``current''.  The current of this disc is flowing clockwise since current is defined as the motion of positive of charges.  At the point nearest to point P on the disc, current is flowing down the page which leads to a magnetic field direction given by answer choice 4.


Biot-Savart law yields direction of the magnetic field.

dB ~ dl x r(hat)


